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1.  What random sample size would produce a 2.  What margin of error can be expected when

margin of error of + 1%? using a sample size of 5007
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3. What are some reasons that a research center 4. What is the range for the percent of students
might decide that a survey with a margin of ' thattext in class that the research center can

. e I
error of + 3% would be more desirable than one expect from any random survey they conduct
with a margin of error of £2%? with a sample size of 25007
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5.  Using the question posed at the beginmng of class about texting: If a survey with a random sample of
2500 students is conducted, is it possible that onlv 20% of the students could respond that they text

during class? If so, how could this be possible?
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Find the mean, variance, and standard deviation for each data set.( E:\Q\
6. 6,13,12,5,10 7. 8,16,12,15,4
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8. 25,18,20,19, 22,16
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9. 27,34,45,30,26,42
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Use a graphing calculator to solve the following problems.

10. The most recent test scores for a math class are displayed in the table below. What are the mean and the
standard deviation for this data set?

p f doumen : N Sy e Ve -~ v ol , - a‘,p — ‘G
|Student | 1 ) 2|3 | 4| 51678 9 |10 {11 ]| 12131415 } Y = 81.0
Sx = 9,04

|score | 77|86 |70 [0a|65{82]|76|07|65]|77 89|78 |84}79) 88
11. Your sister’s bowling scores for the last 12 games are displayed in the table below. What are the mean
and standard deviation for this data?
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[Game' 11213145086 | 7|8 |9 }10]11]12 ¥ =204 910
LScore 212 | 187 | 376 | 205 | 193 § 229 | 2011175 | 203 | 216 | 227 235 || §, 1§ 4

Determine the whole number of standard deviations that include all of the foHowing data values.

12. You brother is buying his textbooks for his first semester of college. The price of each of his books is
shown in the table below. The mean of the data set is $65.85, and the standard deviation is about 36.
Within how many standard deviations of the mean do all of the prices fall?

lsodk =r= = =N - eseS
| Price §25.60 | $57.00 | $38.25 | $12640| $84.00 | $63.85 Yt\ﬁég,_ 2688
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13, The table below shows the weights of the five starting players on a basketball team. Within how many
standard deviations of the mean do all of the weights fall?
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(Player 1] 2 3 1 4 5 - 32 il TSN ® —-D24
|weight (Ib) | 146 | 189 | 246 | 178 { 203 || Sy = ol - S
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14, Open-Ended Describe an example of how it can be useful to know the standard deviation of a data set.
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15. Writing How is standard deviation similar to range and interquartile range?
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16. Error Analysis Your classmate calculated the standard deviation of the data set shown below and got
46.53. What error did she make? What is the correct standard deviation?

fDéy ' | Mon | Tue | Wed | Thu | Fri | Sat | Sun 1

.
GJQ \
| High Temperature (°F) 76° | 82° | 63° | 69" | 79° | 84° | 75° uvg‘o‘&mm—
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Find the outlier of the data set using each of the methods learned in class. Show work:
17. 43, 69, 49, 78, 88, 54, 73, 194, 54, 59, 70
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18. 40, 62, 47, 68, 12, 78, 49, 65, 49, 52, 63
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19, 44, 67, 52, 72 82, 55, 70, 200, 55,57, 68
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21. KENNEL The manager of a kennel records the weights for a sample of dogs currently being housed.

31,67,8,37,12, 87, 14, 34, 105, 57, 42, 8, 16, 54, 17, 20, 72,
23,27, 63,24, 52, 14, 44,27, 5, 28, 22, 33, 15,6, 36,41, 21, 46

a. Use a graphing calculator to create a histogram. Then describe the shape of the

distribution. : W 3

b. Describe the center and spread of the data using either the mean and standard L I ]
deviation or the five-number summary-lustify your choice, {0, 110] scl: 10 by [0, 10] sel: 1
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22, CAMP The enrollment for a btannua] computer camp over the past 15 years is shown.

45, 68, 55,25, 48, 36, 61, 52,31, 8, 41, 58, 40, 55, 68,
47, 60, 28,44, 63, 18, 68, 50, 57, 37, 16, 56, 40, 50, 68

T

[0, 70 sck: 10 by [0, 30 scl: 1

a. Use a graphing calculator to create a box-and-whisker plot. Then descrlbe the shape

of the distribution. C :\ > !h )
ﬁgiibe' the center and spread of the data using either the mean and standard deviation or th@b_éf)
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"
Gt vangeoban 9708 2t ¥ [ oktS

105, 86, 98, 112,92, 72, 102, 96, 112, 76, 117, 107, 88, 104, 90, 68, 105, 82,
75, 115,97, 106, 82, 64, 103, 58, 96, 102, 118, 95, 87, 102, 81, 116,97, 110

a. Use a graphing calculator to create a histogram. Then describe the shape of the,

distribution. V\L%&}ﬂ,%\,\q
Sheisech

b. Describe the center and spread of the data using either the mean and standard

deviation or the@mmmlustify your choice. \dc’ M G N{j % .

{50, 120§ scl: 10 by [0, 10] scl: 1




" 24. BARBER A barber keeps track of the total number of customers he has each day for a sample of days.

16, 18,22, 10, 24, 13, 14, 22, 16, 20, 11,:
20, 18,10, 19, 12, 14,20, 11, 8

a. Use a graphing calculator to create a box- and whisker plot. Then describe the / | 15, 251 scl: 2 by [0, 5] scl: 1,

shape of thé dlstnbution
S U\W\w«zjfvt(;

b. Describe the center and spread of the data using either the@nd standard deviatiog or

the five- . Justi ice. A [
e five-number summary. Justify your choice.yJ. {N..jCﬂA o *’]W\W
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25. OLYMPICS The medal counts for the 2002 and 2010 Winter Olympics are shown,

3,8,1,25,2,34,2,3,11,13,7, 17,
11,4,2,8,3,13,17,7,4,36,2, 1

a. Use a graphing calculator to construct a box-and-whisker plot for each set of data.
Then describe the shape of each distribution. ' ,_I:l:l_,

g | |

20, 701 scl: 5 by [0, 8] scl: 1
b&mpare the dis_tribuig using either the means and standard deviations or the

five-number summarie ustlfyyourchou:e Q g g l
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26. TEMPERATURES The monthly average low temperatures for two cities are shown. N

22,57,46,24,31,41, 64,
50, 28, 59, 65, 38

36,51,37,42, 54, 39, 33,
42, 46, 38, 50, 47

' [0, 40] scl: 4 by [0, 5] sch: 1

a. Use a graphing calculator to construct a box-and-whisker plot for each set of data.
Then describe the shape of each distribution. f

\0‘0% = W\W\Q}ﬂf

b, Compare the distributions using either the@standard deviations or the five-number summaries.

Justify your choice.
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Normal Practice
Distributions T " TN

Identify each of the distributions as positively skewed, negatively skewed, or normally distributed.
B 2, 3.

+ M >

In a normal distribution, what percent of the values lie:

2 , <
4. below the mean? SO Ly 5. above the mean? SOk
. . . 8@‘ -
6. within one standard deviation of the mean? b ég

7. within two standard deviations of the mean? c\§ 7;\;
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8. within three standard deviations of the mean? Olcl :\ LD

9. 2000 freshmen at State University took a biology test. The scores were distributed normally with a mean
of 70 and a standard deviation of 5. Label the mean and three standard deviations from the mean.

P

; | l I T TR
S w0 S % ¥ 8o 58S
Answer the following questions hased on the data: .

a) What percentage of scores are between scores 65 and 75? (8%,

b) What percentage of scores are between scores 60 and 707 L(’J, .S“l;;

¢) What percentage of scores are between scores 60 and 857 Q'},’SS_"L

d) What percentage of scores is less thén a score of 55?2 :\S-%

ej What percentage of scores is greater t.h.a-n a score of 807 3_“;3‘2‘ ,

f) Approximately how many biology students scored between 60 and 707 H—,;,S'C g;:)odj = 0)@
g) Approximately how many biology students scored between 55 and 607 D225 (mb) = k{?

10. 500 juniors at Central High School took the ACT last year. The scores were distributed normally with a
mean of 24 and a standard deviation of 4. Label the mean & three standard deviations from the mean.

N \s 2o A 22 BL b

Answer the following questions based on the data:
a) What percentage of scores are between scores 20 and 28? b8%

b) What percentage of scores are between scores 16 and 327 O\S °Z

¢) What percentage of scores are between scores 16 and 287 8\5 ‘2



d) What percentage of scores is less than a score of 12?7 \g%
e) What percentage of scores is greater than a score of 247 ’STO%
f) Approximately how many juniors scored between 24 and 28?7 .34 (so) = {3Q
g) Approximately how many juniors scored between 20 and 287 .\p%(@o} =240
N - A —
h) Approximately how many juniors scored between 24 and 327? ,"‘l‘}gfsb?)\ A~ A3FN
i} Approximately how many juniors scored between 16 and 207 | 35(@0\ o (o’-}»< ‘

j) Approximately how many juniors scared higher than 327 .01‘5‘( 500\) -~ | .5

11. Hete are the scores for a recent test in Culinary Arts. 90 90‘ 95 100 80 80 75 80 70 60 95 100 100
- : 100 75 80 90 90 90 70 70 80 85 90 90 85

Answer the following questions regarding this set of data.
Median = 8,1'&— Mean = 8 5 Mode = q 0 Standard Deviation = W)-(" Variance = ~A12.

How many scores are within 1 standard deviation of the mean? 2\

T ayq-ase
How many scores are within 2 standard deviations of the mean? 2b
% D 0wy Y- \D6. T

Hint: Drawing the curve will help answer the last two questionsil!
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The bar graph below displays the heights of the students at a high school. Use
the graph to answer the following questions. : -
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12. Approximately what percent of students are between 61 in. and 67 in. tall?

X

13, Approximately what percent of students are between 64 in. and 75 in. tall?

)( r
14, Approximately what percent of students are between 70 in. and 79 in. tall?

X

15. Reasoning Your mother has a rose garden. Every day, she sprays fertilizeron
the roses in one section of the garden. Do you expect that the heights of the
rose bushes in her garden are normally distributed? Explain why or why not.

No- compuing sk S f enbead
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Sketch a normal curve to represent each of the following normal distributions.

16. The average weight of a tomato in a tomato garden is 10 oz. The standard
deviation is 1.6 oz. Sketch a normal curve showing the tomato weights at one,
two, and three standard deviations from the mean. ‘

17. The average score on a math test is 76. The standard deviation is 6.2. Sketch
a normal curve showing the test scores at one, two, and three standard
deviations from the mean.
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Draw a normal curve to solve the following problems,

18. A local bakery makes chocolate chip cookies. The number of chocolate chips
in the cookies is approximately normally distributed, with mean 11.4 and
standard deviation 1.3. What percent of the cookies have between 8.8 and

14 chocolate chips?
9%

251 RIWS  F K
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19, The bakery described in Exercise 46 sold 200 chocolate chip cookies. How
many of the cookies had less than 8.8 chocolate chips?

2AWIIVT 5 02520y S "

20. Reasoning One of the cookies sold by the bakery had 18 chocolate chips.
Would this be considered an outlier? Explain why or why not.
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